120-50-3 0 Over.32010.2.10

m1200000000000-50000000000000000
30 DOobOooboooooaon

000000000 MmMooooooo
m00m

ooooooo

0000000000 00000 © 00000000 2010 1/(16)



120-50-3 0 Over.32010.2.10

mi120 -50 -30

310000
000000000 O20090 10000
3-1-1 00O
goooooo0o0ooOOo0OooOo0oDbDOoU0OoOo0o0ObDOoUOoOOoUOobDoUOooooDo
Etlf(r)+V(r)t/f(r):—h—zVzt/f(lr)+V(r)w(lr)=El//(r) (311)
2m 2m

000 ECOO0OOCOOOV(rODODOOOODOOO0O0O0OOOOOOOODOOOODOOOD
0000000000 V(nooooo roO0OOTr=[r|00000 V(r)OODODOOODO
gobooooooooooooooooOooobOoboOoO0roboOoobOOOoOobObOOoODbOOn
0000000 r00O00D V(rODODODOODOODOOO F=-VV(r)OOODOOODOO
Fz—%—\rlgDDDDDDDDDDDEII:IDI‘DDDDDDDDDDDDDDDDDDDDDD
gobooooooooooooooboooooooboooooboooobooooobooooDoooon

¢

* TREEE
031 0D0oogo

0000000 V20000 (ne,e) 00000000
000 (xY,z)=(rsingcose,rsindsing,rcosd) 00 DOV20 VOOOOOOODOODO
gooobooooobobOobobooooo

10\ 1 102 L2
2 Y - 2_ -7 =
v _(rarr) + (rxVv) i L (312)

000 LOrO0-iVOOO (-irxV)0OO0O0O0O0O0000 p=—-iAVOOOOAL=rxp

0000000000 00000 © 00000000 2010 2/(16)



120-50-3 0 Over.32010.2.10

00000 ALODODOOOODOOODOOOOODOOOOO0OODOO0ODO AODOOO LOD
oobooooooooOoooooobObooooOoooDboO ppOoOob0oooobooOon
.10 {1 0

=—ii—-—r=-ih|=-+ — 313

2 ror (r 6r) 33)
thz/l’ZDD[:lDl:lDDDD|:|D|:|DDDDDDDDDDDDDDDDDDDDDDDDD
o0o0ooooooooo

, 14 .9 1 &

= —_——-—_— 4
sind 90 °"%50 st g 902 (314)

3-1-2 0000
0000000000000000 LODD0O0O00000L=-irxVOOO LOOO
ooooooooooooooooo

{8 0 N d (8 i)
Ly =i (ya—z - z@), Ly=-i (25( - Xa_z)’ L, =i (x@ - y&) (335)

0000000ooooooo Lyl L, 00000000000000000000000
oooooooo

LoL]=il,  [L.ld=il,  [L.LJ=il, (336)

0000 (36)0000000000000 LP=12+L2+L20 Lyl L, 0000000
000000000

L% L] =0, [LZL]=0, [L%L]=0 (@7)

0000000000000 L20 L000000000 L, 0000000000000
000000000000000000r00000000000000000000000
00000 LyLy,L, 0000 (,¢)0000000000000000000

.0 0
Ly = |(S|n<p%+cot9co&p%) (318)
Ly, = i|-co £+cotesin 9 (319)
v o= 90 a0
.0
L, = —-i— (3110)
O¢
3-1-3 0000

L200000 kDL, 00000 mOOOO0O0000 |km>000000000000
00000 &6, 00D O00D0OO0D0O0O00O00O

0000000000 00000 © 00000000 2010 3/(16)



120-50-30 Over12010.2.10

L2, ¢) = kDim(®, ¢) (3111)
qu)km(e, QD) mkm(G, Qﬁ) (3:’ 12)

0 (3111)00 (312)0 0000000 Om(f,¢) 00000000 L, 000000000
00000 (312)000000000000

9
i Di(0.4) = Ml ) (3113)

oobooooooooooooooon

dme
Dym(6, @) = ®km(9)E (3114)
0000 (311)000000 Om(d 000000000000 00000
sin6- L 0un(@) + " Oun(6) = kOn(6) (3115)
sinade > dg KM g ) = Kk

0000000 On(6,9) 00000000 Dym(6, ¢ + 27) = Bum(6,9) 00 €™ =100
0000000000 L, 0000mMOm=00000000000 ¢=cosf0000D0
d/d9 = —singd/dcoy 00D 0D (3115) 0000000000

e
1oz

%(1-42)£+(k )@:0 (3116)

000000000000000000000Legendre 0000 P[“(g)DIZIDDEIDDEI

000000000000 000000000000 kOODOOoOoOoOoOoOooOooOoloooo

k=I(l+1) 000000000000 MOOOOO |mi<l00000000000000

oooooloood m=-L,-1+1,---,1-,10 (2+1) 0000000000
0000000 Ox(6,9) 0000000000 Yim(f,e) 00DOOOD0

0000000000 00000 © 00000000 2010 4/(16)



120-50-30 Over12010.2.10

m120 -50 -30
=2 000000DOO0ODOODOOOoOO0OoOooOd
000000000 O20090 10000

gooboooooooOoOoOooOoOoDOoO0OoOOoOoDOoO0O0ODOOOOOoODOODOoO
jd0o0oooo0o0oioooooooooo (31)o0o (I12)uoooooooooo
0000000000000 rxpO00O000 r0 p00000000000000O00O00OO
0OLOODOOO(3L6)0000000000000000000000O00O00O0O0O0OO
00o00oooo (3e)0 Lyl oooooooo Lyl L, OODODOODODOD0OD0OO0O0O
good

L, =Le+ily, L =Le-il,, Lo=L, (3117)

000 L,,L.0L 0000000000 L20000000000

[Lo.L.] =L, (3118)
[Lo,L]=-L_ (3119)
[Ly,L] =2Lo (3120)
L2=L,L +L3-Lo=L L, +L23+ Lo (3121)

000 L?20 LyODDOOO kO mOOOO00 |km>0000000000000000
ooo

L2k m> K|k m> (3122)
Lolkm> = m|km> (3123)

000D (318)0000000000000
LoL, [k m>=L,(Lo+1)| k. m>= (m+ 1)L, |k m> (3124)

000 Ly |[km>0 |K,m+1>00000000000000000 L,0 L20000
0000 kO koOOOoOOoOODOUOO NmODODOOOODOODOOOOOOOOOO

L, [k m>= Nem |k m+1> (3125)

0000000000 KkOOOO L, 000000000 LyOOOODO0OOOooooooo
00000D0000000000000 LyOODO mOOOOO mP<kOOOODOOOOO K
0000DmO0000000000000000000 my(kDOOODOO0OOO m=my(k)
oooooooooooooooooooooooon

L, |k mu(k) >=0 (3126)

0000 (3P19)0ooooooooo

0000000000 00000 © 00000000 2010 5/(16)



120-50-30 Over12010.2.10

Lo lkm>=N, [km-1> (3127)

00 kDOODOD mOODODOD my(kOOODOOOODOOODOODOODOOOO0OOODOOOOO
oooooo

L. |k mn(k) >= 0 (3128)

0000 (326)00 (3121)0 L2 =L L, +L2+L, 0000000 k= my(k2+my(K) OO
000000 (3128)00 (3121)0 L2=LL+L2-Lo 0000000 k = mMn(K)?—mn(K)
00000000 mykK)0 myk OOODOOOO0OO0OO0O0O00

k= mu(K? + mu(K) = Mn(K)? ~ M (K) (3129)

(M (K) = Min(k) + 1)(Mu (K) + mis(K)) = 0 (3130)

000 muK) > mu() 000 muK) = -mpy(K) 000000000000 m=mpK) 00
00 m=m(K)OOOOOO L. O0D0O0mO 10000000000000000000
0000 muK)-mn() 0000000000000000000 2j0000 my(K) 00
ooooooo

M (K) — Min(K) = 2mw (k) = 2j (3131)

000 mOOOOO my(k)=j00000 kO k=j(j+1)00000002j00000
00000000000j000000000000000000000000000000
00/20000000

0000 Njw OO N, 00000000000000000000000000 (3125)
oo

N =< jm|L.L,|[jm>=<jm|L®-Lj-Lo| jm>=j(j+1)-nm"-m (3132)

000 L, 0000000000000 LLO0O00O0OO0O00O0O0oOoODOOO0OOoOoOo
00000000000000000 mO00O00000000000 |km>00000
[im>0000N,00D0OD0ODO000000O0OODODOO0000000O

Njm = Vi(j + ) -mm+1) = y(j-m)(j + m+1) (3133)

000 Nm,OOOODODOOOO0ODOO000000 |jm>000000000000000
0000000000000 NywODDOODODOOODO0O00 |jm>0 mOoO00O 2j+1
goooooooobooobOoooooboooboon N}mDDDDDDD (327)0oO
oooooooooon

NZ = j(j+1)-mf+m (3134)

NmeDI:IDEI NmOOOODODDOOOOOO0O00D0O00000000

0000000000 00000 © 00000000 2010 6/(16)



120-50-30 Over12010.2.10

Nim = Vi(i + D -mm-1) = y(j+m)(j-m+1) (3135)

0o0oooooooooooooooooooooooooooooooOoOooO0000On
0000000000000 00 ¢y>e+2r00000000O0OOCOOOOOOOOO M=
00000o0o0ooo00ooooo0oooooooooooooooog j=0,1,2,3,4,--- 0
000000000000 00j=00000000000000000O00DO0O00O0OD
0000000000000 00DO000000O00OOOOoOOOoOSpiNOOO0Ooon
0000000000000 O0O0000OO0O00O0DO0O00OO0ODOO0OD 40000 100

gobooooooobooon

0000000000 00000 © 00000000 2010 7/(16)



120-50-30 Over12010.2.10

=120 -50 -30
=3 000

000000000 O20090 10000
3-3-1 00O0oooo
g0ooo0ooOo00oOOo0OOoO0O0DO0OODOO0ODOUO0ODOUObOOUOO0ODOUODbDOO
00 j=000000000 1 000000000000000000000000000O0O
0000000000o0oooooOoO0oO0oO0O0OOOOO0OOoOOoooooooooono a0 2
jdooooooooooooOoOoOooOOoOoOOO0OO0OO0O0O0O0O0OOoDO0O0OLOL.0000
1000000000000000000000 (326)0 100000000000 OOO
gooooo |[l->00000000000 |m>0 L.O000O0OOOOOOOOOO0O
0o0o0ooooooooo L. 0o0oooooooooo

L. Ly +ily = (ising = cos@% + i coto(cosy £ i Sintp)ai
(3

; 0 . 4]

e |+— +icotd— (3136)
a0 dyp

OO0 |Im>000 |Il>0000 L.O(-mO00000000O0O0OOO0OO0O m=10

000 L. 00000000000 ee)0000000000000000O0O

(d% —1 Cote) o) =0 (3137)

00000000000000000 6 xsif00000000000000000
Yi(6,) 0000000000000 0000000000 (-1) 000000000000
oooo

ele 21+ 1)! sinf 6e'¢
o) = 0n(0) = = (1) | S (@138)

00 Yi(6,¢) 00000000000 (3036)0 L.O000000000 mOO00 Yim(8, ¢)
00000000 YimB¢) 0 0000 expimg) 000060,(0) 0000 L.O00000
0ooO0O00000

d 1 d 1 d
—— -—mcotf| = —— [-=|si"8 = ——— | ——|si™6 3139
( do ) sm”‘e( de) sinwlg(dcose) (3139)
0000000 L.O0000000000U0 mOoOO00O0O0O0OO0OOsing000ooooo
00Om@E)0 cosh000 (-mOO0000000000O0O00OOO
O0000o00o0oU0OoU0oU0OoU0OoUOOUOUOUOO00 m=00U00O0OOOOOOOO

000000000 L. 0l0édYsing00000000000000000000000
goooooo

B @ +1)! 1 d(1-cogp)  [21+1
Op(®) = (-1) 2@) 21 dcose Ve Pi(cosh) (3140)

0000000000 00000 © 00000000 2010 8/(16)



120-50-30 Over12010.2.10

OO0 PROlO00000O0O0OO0OOO0OOOOO
000 m>00000(Im>0000 [I0>0m0O L, 00000000000O0OO00
ooooooooooooooooao

,/E: ;g: sinmo(— dc‘i SQ) @p(0) (3141)
%(-m \ 2'; L omicoss) (3142)

000 A"O00000000000000000000 m<0000000000000
gooooooOooUooo0 Yy,ZOOOOOUOOOOOUOODODOOODOOOOooOooOOoOo

Yin(0. ) = ™ | 2 4; 1 % P (cosp)d™ (3143)

3-3-2 000 Y,O0OO
0000000000000 000000000000000000000000000
oooooooOo

®Im(0)

T 21
f f Yim (6, ) Yirm (6, ¢) sinddedy = 611 Smm (3144)
0 0
000000000000 ™0 e™OoOoOoO00000000000000000
Yim(6: ) = (=1)™Yi_m(6. ¢) (3145)

goooooooro0-rO0000000D0O0ODOODOOOODOODOOOOOOODOO
goooooooooe—-»n—-00p—ep+a0000000O0OCOOOOOOOOOOO
goooooooooooobo

P"(cos) - PM(cosfr - 0)) = P"(~ cost) = (-1)""P"(cosb) (3146)
éme - @l o (_q)ndme (3147)

0000000000000000000000000000000
Yim(8, ) = (=1)*"(=1)"Yin(6, ¢) = (=1)Yim(6, ¢) (3148)

0000000000 0000000000000 POOOOOOODO000000 Parityd
00000 (-1) 0000000000

0000000000 00000 © 00000000 2010 9/(16)



120-50-30 Over12010.2.10

m120 -50 -30
0000000000000 DO0O00
O000000000Mb20090 10000
0000000000000 0000D000 vVPOo0OO00O00000000000000
goooo

2
_h (r ar ) v+ zw(r)+V(r)w(r) = Ey(n) (3249)

000000 VO r00000000000 ¢(r)=R(NYm@¢) 00000000 RO
00o00O0O0oo0oooo

2 2
—S—m(%gr) R(r) +

goorOo0O0DOOO0OO0ODOOOOOODOOODOOOOOODOOODOOOODODOOO

0200000000000000

000000000 VOr—-0000000000000 1/fP000000000000

0000000 RNOr—-0000000000000000 I(1+1)/f20000000

r-00R(N=Cr'+0rJ0000000000000000O0O0

M R( + V(NRE) = ER() (3150)

—k(k+ )2+ 1(1 + Dr2 1 ok = 0 (3151)
00D00kk+1)=I(1+1)000 kOODOODOOOO
(k=DNk+1+1)=0>k=1,-1-1 (3152)

O00r—-00R(NOIDODODOODOOOKk=100000000000 1000000
go0o0o0o0o0oooooooooOooOoOoOOOO0bbobO

RO~ (r—-0) (3353)

00000 |l=000000k=-1-1000000r=000000000000 R(ND
200 r00000r0000000000000000000000000000000
000 1=00000 k=-10000000000000000000000 pr——mir
0000o00ooooooooooog Ry 000000000D000000000O00
k=-100000O00O0O0O0O0OOOOOOOOOOOO
rd00000000000000000000R( O r000000uwWr0OOOOno
gobooooo0oooooooooboOooooo

2 2
—(%%r) R(r) = —%%rR(r) = dr2 u( ) ooo u(r) =rR(r) (3154)

goboooooooboooooooooOooooooboooo

0000000000 00000 © 00000000 2010 10/(16)



120-50-30 Over12010.2.10

w2 R 72I(1 + 1)
“amae'O " ome

omdr2 u(r) + V(r)u(r) = Eu(r) (3355)

0000D0D0000000000D00000000000D0000000000000
r>00000000r—-00 u(r)o

un ~r*t (r-0) (3156)

oo0oo0ooooooooooo

gboooooboooobOooooooboOoboOOooobooOoOoOOooOobocOoOobOOoOoonooo
0, 00000000000000000000000O0OO0OO0OD0O0OOOOOOO
0 (PB5)00o0ooooooooo

0000000000 00000 © 00000000 2010 11/(16)



120-50-30 Over12010.2.10

=120 -50 -30
-5 00000

000000000 O20090 10000
3-5-1 0000OOoonO
J000doo0ooooo0oooo0UdCouomdOO0O0O00O0O0O0DODOOOOOOOO
0ooo00o0o00ooo00o0oo0DoDoOooooOo0r00000OOO0O0OOOoO0DOoOOn
| 0000000000000 0000000O00OoOoOO

"2 o h2|(| +1)

“omar u(r) + u(r) — e u(r) = Eu(r) (3157)

mr2 Argor

000 0000000000000 /4ng ~hc/13700000000000 ZeOO
go00o0oo0oodr -oeoO V(I’)—)ODDDDDDDDDDD E<O00OO0ODOOOODO
Joooo0oo0oo0oo0oooOooOooOoooooooooobooboooo

Z¢ [-m —8mE

) -m ANETE 3158
areh V2E° P 7 (3158)

oobOooooooooooobooboooooobooon

gip‘;+(£—%—'(';l))u=o (3159)

0000000 p—-» 0000000000 u~ " 00000000000000000
p—>o00000u00D00000000000000000p—>e 0000 1/p0 1/62
000000000 (359)0000000000

¢ w6 = Lu) (3160)
dp? T4

00D uOOD expkp/2) 0000000000000 0000000p » 00000
0000000000 explp/2) 000000000000 O00DO0O (3590000
u=f(o)expp/2) 000000 DOOODN f(p)00D0OO0O00NDDO00DDOO

?f  df +(e |(|+1))f=0

d?  dp o2

(361)
000 p—»0000000000 f~p*'000000f(p)00000000000
f(P)z.UHliCkPk (Co#0) (3162)
000001000 200000000000000
S d

= > Cll +k+ 1o,

k=0

f Z Cul + k+ 1)(1 + K)p'HeL (3163)

0000000000 00000 © 00000000 2010 12/(16)



120-50-30 Over12010.2.10

0000000 (3600000 p000O0 I+kOODDODOODODODOOOOO
(Il+k+2)(1+k+1)C1 — (I +k+1)Cx+eCx —I1(1 + 1)Cyy1 =0 (3764)

ooooooOdo Go Gy O0000O0oooooooo

(I+k+1-¢)

k+Dk+2+2) ¥ (3:65)

Cki1=
0000000000000 000000000000000kOo0ODO0OO0OO0OOOOO CO
gooooOobooooooo

Cri1 = - (3166)

00000 KkODODODOODOOOO0OCG~1/KO00OO0Ooooooo f(o) O expp) 00O
000000000000u0 expp)exp(p/2)=expp/2) 000 p—-oo 0000000
00000000000000000000000000D000000f(p)000OO0OOO
0000U00o0o0ooo0o0o GguoooooooooU0ooooUoooUooUooooo
00000000000 KkOnOO0OOOe0OO0OOl+n+1-e=0000000000
00000000000 0000 e0 000 nODOOOODOODOOOD

e=n+l+1=n (3367)

00000000 EQDO0OOCOOOO0O0OOO0COOOO0OOO0OODOOOCOOODOOOO
ooogd

2 2
E-_Mm(zey 1 m(zey1 (3768)
2h2 \4neg) (N +1+ 1) 22 \4ngy | n?

oooO0r0b00O00D0 pOO0O0ODOOOOOOODOOODOO

_ \/—8n’Er _ ZZr B Areoh?

p= 7 = Qo me (3769)

000 aO000000000000000000000000000000000000
000000BohOOOOOO0O0OO0OO0OO0OO000O NO0000000000000
Uy(r) =rRy() 000000NO0000000000000000 ul p*'x(eOn 00
000 )xexpp/2)0000

0000000000000000000000000 n00000000000000
000000000000000000000000n+1+1=n00000000000
0000000 1=0001=n-10000000 2+100000000000000
0ooooooo

n-1
d@+1=n? (3170)
1=0

0000000000 00000 © 00000000 2010 13/(16)



120-50-30 Over12010.2.10
000000 nO00O0OO0D0 PPO000D00000000000

3-5-2 0000
O00000000 p0OnO0000000000000000OOOOOOO0 Laguerrdl
0oooo Loooo () 0ooo00o0ooooo0o0oo f) =p*goooo
flo)D0ODOO (361)00000000000000 gl) 0000000000000
0oooooooon
d’g

p—+(2l+2—p)@+(n—l—1)g:0 (3171)
do? do

00000000000 D000000 L'O0000 m=2l+10k=n+I0000000
9(p)0 L2 00000000000000 KkOOOO0DO0 MOOODO0O000 k-mOD0

0000000D000000O0 n+1-21-1=n0000g0n 00000000000
0000000 R(M=u()/r0000000000

27
Ru(r) = Nup' L2 (0)e /2, P= et (3172)

000 NyODODOOODOOODODDOO0OOO0OO0O0O00000000000000000000O0
oo0ooooon

f W{Rm(r)}zrzdr =il (3173)
0

go0o0oooooooooooooOoOOOOOOOOOOObODbOOO00O

~ 27\ (n-1-1)
Nn| = - (a) W (3]74)

000000000 -000U0o00o0o0o0o0oOOoOdOr=000000DODOOO
gobobooooooooooooooboooooboboOoooooOD nooobooOoooooo
goboooooooOnOOO0OO0ODOO0OO0OOO00ODOO0O nnOODOOO

3-5-3 0n0OO

goooooooooooooooboooboooooDooooOoooooocoooooooo
0000000000000 00DDO000DODO000DDO0O0O0DD (3680 Z2=100
0000000000000OO0O0OOOOO0O0

(3175)

2
= m( & ) 1 € 1

T2 4rreg - _87rsoaoﬁ

0000000000000 r 0000000000 0000000000000000

*0000000000 N00000000000000000000000000000000000
n/2000

0000000000 00000 © 00000000 2010 14/(16)



120-50-30 Over12010.2.10

oooood
3 i 3
<—>=—-=<- 3176
2m 2 Ameor ( )
0000000000000 0000 1000000000 OOOO0O
e e 1 1 1
<V>=<-———->=-———, <= >= — 377
Angor Anggag N2 r n2agp ( )
0000000000000 n=10000000000 n=1=000000000000

00 1=000000000 OUshar@0 00000000000 Nn00000 1s0000
001s000 100000 1/ 0000000000 r00000 <1 >=3a,/2000
00000000000 0000000000000000000000000000000
0000 V) DOODO000 Ey(n=1,2,3)00 3200000000000000000
000000000000000000000000000000000e/4re = he/137
ooooOooo00000O0

4 2

- ’:Tf;h = 0.53x 10%m (3178)
e

Bie = ~groo = -136eV (3179)

0000000000000 051MeV/?000000000013.6eVO0000000O0
0000o0o0oooooooooOooOOOOO000On

E [eV] x=r/a,
10

N WO

33

-10

n=1

032 0000000000 VOOOOOOOOO0OO0O00O0ONn=21230000

000000000000000000000000 n=20000(=21,1=0000
(h=0,1=1)0 2000000000 2s000000000 1000 [ principad0 000
02p000000000N=300000 3s,3p,3d000000n=400 4s 4p,4d, 4f
000000000 dodiffuse0 00000020 fOfundamentdl 000000 3000

0000000000 00000 © 00000000 2010 15/(16)



120-50-30 Over12010.2.10

000o0O00o0O00oO0oOOo0O0O0o0OO00O0O0D 3BOOOODODOOODO
goooooooooooooboooooooooooobooooobooboooooooOoo
go0oooooooooooooooooOOoOOOOOOOCOOOOOObOO0OO0o0o
gbobodoooocoobOooboooobOOoOoOoOOoOobObocOoObOOoOoObocOoOobOOoOonooo
gooooooooooooooooobooooooooobooooDoo0o0 boooooo
OnO00O0O0OO0COO0ODACOOOOODOO

1 1 1
Z=Rl=-= 3180
2 [ ] ‘S
DDDDDDRDDDDDDDDRydberdf.lDl:Il:lDDDDDDDDDDDDDDDDDDDD

& 1
R= —— —— =1.097x 1Pcm™* 3181
8reopag 2nhC ( )
00000oooO00o0oo0Om=1000000000LYmMman 000N =200000
J000OBamed J0DO0O00DOO00O0O0 XOOODODOODODOODOOOOO n=1,2,3,4,...0

000 KOOLOOMOONDOOODOOOOO

u(x) u(x)

F 25 4 F 4
L ] L 3p ]
-0.4 1 -0.4f 1

0 10 20 0 10 20
x=r/a, x=r/ay

038 0o0000oooo

0000000000 00000 © 00000000 2010 16/(16)



